«Кто был папой?»

	1. Н. Винер
	1. Алгоритм нахождения НОД двух чисел.

	2. Б. Гейтс
	2. Алгоритмический язык.

	3. Герон
	3. Телеграфный код.

	4. Евклид
	4. Microsoft.

	5. А.П. Ершов
	5. Norton Commander.

	6. А.С. Лебедев
	6. c2=a2+b2

	7. С. Морзе
	7. Счетные палочки.

	8. П. Нортон
	8.      1, 1, 2, 3, 5, 8, 13, …

	9. Пифагор
	9. SQRT(p(p-a)(p-b)(p-c))

	10. Фибоначчи
	10. Большая электронно-счетная машина (БЭСМ)/

	11. Н. Вирт
	11. Windows.

	12. Дж. Непер
	12. ЯП Паскаль.

	13. Microsoft
	13. Кибернетика.
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